TOP JAMB INSTALLATION

CLOSER MOUNTED TOP JAMB ON PUSH SIDE OF DOOR

STANDARD INSTALLATION

CLOSER MOUNTED ON PULL SIDE OF DOOR

10711 ZINS-L1266-00

a.Choose degree of door opening

T

b
9-1/16

(230mm)

1

.Drill per screw chart

i

6 Holes for #14 Wood Screws
or 1/4-20UNC Machine Screws

(50mm)

Back-Check
Adjustment Valve

o &
Spring Power Speed Regulation Valves 3_/4 I O&
é Adjustment Screw toward Hinge Edge of Door é (191r/”2m) i © o .M—|
L L
- (12.7mm) |
= |
2 1
A 1
- $ $ | Arm Shoe and
,j .8 Lockwasher
1-3/4 6 -4-383
(44.5mm) (152mm) ! i =
e
[E )
' 10
| -! i
| 1o
il-sg
H- S

-
A longer connecting
rod is required
for reveals greater
than 3-9/64"(80mm)

a.Choose degree of door opening

1

__6
(152mm)

b.Drill per screw chart

1-3/4

| (44.5mm) |

(-

(50mm)

7/8

(22mm)

3/4
(19mm)

\

=

!

1

|

1

|

i

1

|

1

|
1\

Speed Regulation Valves
oward Hinge Edge of Door

9-1/16

Spring Power @
Adjustment Screw.
1

Hinge Edge of Door

(230mm)

6 Holes for #14 Wood Screws
or 1/4-20UNC Machine Screws

Arm Shoe
Arm Shoe and \
Lockwasher
e [ ]

Adju

-

Back-Check

stment Valve

C

Index mark

Left hand door Right hand door

Index mark

LEFT HAND DOOR ILLUSTRATED - - RIGHT HAND DOOR ILLUSTRATED - -
Adjust spring power to match chart 2 Adjust spring power to match chart 2
Di i . Stronger Di i . Stronger
Opening |mir\13|on Opening | Closer Size | Ganeiee ine of +g Opening |mc1nS|on Opening | Closer Size | Govee fune of +g
- v 12 \ - v 12 \
Inches 1O 100° TO 100° IV 6 & Inches 70 100° TO 100° v 6 &
178 1T 0 Tmm) 178 Il 0
(mm) ( . ) v 12 — (mm) ( - ) vV 12 —
. TO 120° 1T 6 - . TO 120° 1T 6 -
T0120 (152) I 0 Weaker Ele) T0 120 (152) 1l 0 Weaker 20
1T 12 1T 12
. 3-1/2 TO 180° Il 6 . 3-1/2 TO 180° 1l 6
TO 180 o) 5 o " TO 180 e S ) "
3 a~b—-c-d-e-f | Sweep 3 Sweep 4
S . .
{ -Ll[\ c Index mark Index mark | F
| i | aster
|
: : Left hand door |
| = | : =
| [
| : o a—>b—>c—>d—>e—f |
| | |
> Slower
Latch 5 Latch

6 Backcheck

ESSS
Caution :
Don't completely
close the valve.
\~
—~

&

Stronger

7 Pinion Cap and Cover

: b
Pinion Cap/
a—b l
2 —
Cover—_ <@ 20
. a=s
[ °) __H (€@

6 Backcheck

Caution :
Don't completely
close the valve.

+
Stronger

7 Pinion Cap and Cover

|

a—b

_

a

Cover

Pinion Cap

b

R10469 C53E SIZE II-V



PARALLEL ARM INSTALLATION
CLOSER MOUNTED ON PUSH SIDE OF DOOR

1

a.Choose degree of door opening

b.Drill per screw chart.

Pull Side Installation

2-3/4
| A {70mm) LEFT HAND DOOR ILLUSTRATED
38 —1— 2 - -
(©mm) (0mm) \ . Dimension
: Opening
i ( A B
|| (% Gl i ( . 9-1/4 7-5/8
| 38| \¢ B! 34 70100 (235) (194)
! (9mm) — Tomm) Inches
! 4 Holes for #14 Wood Screws (mm) 7-3/4 6-1/8
| or 1/4-20UNC Machine Screws TO 120°
i (197) (156)
|
i O 5-3/4 4-1/8
! TO 180°
| (146) (105)
| (
e 3 Adjust spring power to match chart. 2
i | 4 Holes for #14 Wood S ] ) Clockwise Tums Of Stronger
5 !| 3.1/8 or 174?§O?JI'NC Magr?ine g:rvev\is openlng Closer Size Agﬁjsv:::eemlggrsew + g
& Jh Tomm vV 12 \
sAN a .
ol TO 100 1] 6
E |_ !|_| __Spring Power Speed R_egulation Valves < Il 0
qg)"’ H) Adjustment Screw toward Hinge Edge of Door V2 12
= 4 TO 120° 11 6 - ©
(Tomm) Lg—l 1] 0 Weaker BE
B 9-1/r1i] | 1] 12 T ya
esomm) TO 180° I 6
| 0
3 4 a—~b—c
Slower :_--__'é-_ﬁ é‘ ___________ :______ﬁ_____: _______
i | a é é | c —) H |
A = N £ —
1 1 ® g
u u @
lp = I Y’

!

Forearm
Index mark

Left hand door

Locknut

Locknut T

Forearm
Index mark

9

Right hand door

a—b—c—d—e

DOOR CLOSER
INSTALLATION INSTRUCTION

1 = Sweep

2 = Latch
\—

i

e
)

] N

7
@N
@\

Spring Power Adjustment Screw.

|, — BC=Backcheck Vavle

Q3 @>{

Regular Arm & Top Jamb

Max. Door Size
Unches (mml} - 3gv762) | 36"(914) | 42" (1067) | 48" (1219)
Door
Interior Size | Size Il Size lll Size IV
Exterior Size lll Size IV Size V NA

Note: 1.Indicates recommended application of door width for closer size.Determine
door width, adjust spring power to match chart.
2.For parallel arm application, it requires to adjust more spring power to meet
door width.

>
Slower @

8 Backcheck

Caution :
Don't completely
close the valve.

+
Stronger

9 Pinion Cap and Cover

Parallel Arm Installation

Standard Components

Closer Body
Arm Assembly

52 Connecting Rod
— /

Adjustment Tube
,/ Elbow
/ Screw

L

Pinion Cap

Soffit Plate

=)
=4

Soffit Plate Used with
Parallel Arm Closers Only

Optional Components

. Cover




